
#320903 ALU STEERING BLOCKS & C-HUBS - SET - V2 #320903 ALU STEERING BLOCKS & C-HUBS - SET - V2

322270 322270

902306 902306

903312 903312
903312 903312

322211 322211940509 940509

322251 322251
322261 322261

940510 940510

902310 902310

940509 940509

902310 902310
902306 902306

322270 322270

940510 940510

302293 302293

302292 302292

303123-K 303123-K

302292 302292
302293 302293

322221 322221

1 DOT   (INCLUDED)
2 DOTS (INCLUDED)
3 DOTS (INCLUDED)

1 DOT   (INCLUDED)
2 DOTS (INCLUDED)
3 DOTS (INCLUDED)

1 DOT   (INCLUDED)
2 DOTS (INCLUDED)
3 DOTS (INCLUDED)

1 DOT   (INCLUDED)
2 DOTS (INCLUDED)
3 DOTS (INCLUDED)

902310
SH M3x10

902310
SH M3x10

303123-K
SHIM 3x6x2

303123-K
SHIM 3x6x2

322270
SHIM 5x7x1

322270
SHIM 5x7x1

902312
SH M3x12

902312
SH M3x12

902306
SH M3x6

902306
SH M3x6

940509
BB 5x9x3

940509
BB 5x9x3

940510
BB 5x10x4

940510
BB 5x10x4

2x 2x

5x10x4mm 5x10x4mm

5x9x3mm 5x9x3mm

2mm 2mm

3x12mm 3x12mm

3x6mm 3x6mm

3x10mm 3x10mm

1mm 1mm

NOTE 
ORIENTATION

NOTE 
ORIENTATION

NOTE 
ORIENTATION

NOTE 
ORIENTATION

It is not possible to combine aluminum 
blocks & c-hubs with composite ones. 

It is not possible to combine aluminum 
blocks & c-hubs with composite ones. 

302292	 STEEL STEERING BUSHING LONG (4)  
302293	 C-HUB BUSHING COMPOSITE - V2 (4)  
303123-K	 ALU SHIM 3x6x2.0MM - BLACK (10)  
322211	 ALU C-HUB RIGHT - SWISS 7075 T6  
322221	 ALU C-HUB LEFT - SWISS 7075 T6  
322251	 ALU STEERING BLOCK RIGHT - SWISS 7075 T6  
322261	 ALU STEERING BLOCK LEFT - SWISS 7075 T6  
322270	 ALU SHIM 5x7x1.0MM (10)   

302292	 STEEL STEERING BUSHING LONG (4)  
302293	 C-HUB BUSHING COMPOSITE - V2 (4)  
303123-K	 ALU SHIM 3x6x2.0MM - BLACK (10)  
322211	 ALU C-HUB RIGHT - SWISS 7075 T6  
322221	 ALU C-HUB LEFT - SWISS 7075 T6  
322251	 ALU STEERING BLOCK RIGHT - SWISS 7075 T6  
322261	 ALU STEERING BLOCK LEFT - SWISS 7075 T6  
322270	 ALU SHIM 5x7x1.0MM (10)   

902306	 HEX SCREW SH M3x6  (10)  
902310	 HEX SCREW SH M3x10  (10)  
902312	 HEX SCREW SH M3x12  (10)  
940509	 BALL-BEARING 5x9x3 RUBBER SEALED - OIL (2)  
940510	 BALL-BEARING 5x10x4 RUBBER SEALED - OIL (2)  

902306	 HEX SCREW SH M3x6  (10)  
902310	 HEX SCREW SH M3x10  (10)  
902312	 HEX SCREW SH M3x12  (10)  
940509	 BALL-BEARING 5x9x3 RUBBER SEALED - OIL (2)  
940510	 BALL-BEARING 5x10x4 RUBBER SEALED - OIL (2)  


